1. (10 points) Compute the following integrals.
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2. (10 points) Compute the following integrals.
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3. (10 points) Compute the following integrals.
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4. (6 points) Use Simpson's rule with n = 4 subdivisions to approximate the definite integral

4 T

L e 4
b ! .
ol b ow B S Keh

LI O ﬁ,lr 0 ,_%m__ e H_,S,_.,...ﬁ__j
S X 5 _E[ = rzsj; 2]?*1’33-1-%1#![’3“ ()

* 5 55353434

5. (7 points) Determine whether the following integral is convergent or divergent. If it is con-
vergent, evaluate it.
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6. (7 points) A cable that weighs 4 pounds per foot is used to lift 400 pounds of coal up a
mineshaft. If the mineshaft is 300 feet deep, how much work is required to lift the coal

halfway to the top?
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